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Note : Attempt both sections A and B. 

SECTION-A 

Attempt any three of the following questions. 

1. What do you understand by 'Functional 

Organisation ? Explain its merits and demerits. 3+9 

2. What are the barriers to effective delegation ? 

Suggest various means of effective delegation. 	5+7 

3. What do you mean by leadership style ? Explain 

various leadership styles with suitable examples. 2+10 

4. Discuss the meaning and importance of 

departmentation. What are the factors to be 

considered while selecting a suitable basis of 

departmentation ? 	 3+4+5 
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5. Do you think that external sources of recruitment 12 
are better than internal sources of recruitment ? 
Give your view with an arguments. 

6. (a) Distinguish between 'formal' and 'informal' 6+6 
communication. 

(b) What are the common barriers to effective 
communication in an organisation ? 
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SECTION-0 

7. Write explanatory notes on any two of the 

following : 

(a) Standard Costing 

(b) Span of Control 

(c) Limitations of management principles. 

(d) Importance of planning. 

7+7 
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VUX-W 
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